FEH2 0FE

EIEZ AR

2 RXETHFAl

EHIRZ A (E-X)

200
450
400
350
300
250
200

150

100

90

OO
HiL=KX
1§ 4 I
045 X
B [xI
SEHE X
=
= I
8wl X1
RH KX
sead i
#a
FHHEGK
K H X
(T i X1
og = Xl
HiK X
B B IXI
4o K X1
A ]
SR x|
#0 x|
H KX
H L HIX

EIEZ A HH ()

350
300
250
200

130

100

90

HHK K £
184U R B E

[
Y 46

BRI
of fi {E
BEZIE
& < BE K 1E
HIC 328 4E
&K Z1E
SHE
£
H 5 {E
H R #F £
Kz
m &5 £
<HE
SRGEN =
EHIE
FRiEE
RE 1F {£
EgE
Hir 4 42
1] € 42
i 2 B 1E
H=E
<HMNE




&R T2 (BT - #)

70
60 | -
50 | W
40 |
30 |
20 I
10 |
. inl
i) B s B X F 9 # = 1 AN = 1\
& ) R % 1= 1= 1= p=3 = B 5y b =
iig H o) =3 iig o) o) g o) g HT B ]
iipg iipg o) o) o) o)
EEB EEB EEB
#h- B prag m prag fr - 41 prag
FRER 4| [EF® 333| [mwmr a1
PRE 62| [Zis 107| [BomE 61
ER 70| [REm® 13| [eEw
SER TRE 31| |mzEm 53
XER 120 |[Bm® 171 [ABEr 7
e 22| [Frepeh 88| [FIBH
AR 283| (BB 16| |[zmem
THE 80| (%S 121] [zen
SN 157 ETE T 243 |==#
AEX 183| [mesm 125| [mmmH
XEK 185| [ 03| [/ushr
EEAK 267| [a&m 08| (B, BH
EAR 81 BALT™ 12| |!hEREF
PHX 75| |[@Eash 40
PR S 74
BEX 180| [mEm 05
I 64| [T 79
=X 31| [Exdm 16
ER 52| [mmm 75
BEX 57| |[mx@Es 30
RO 64| [REHLT 60
T 203| [ZE® 36
TR 255| [mEmis 138
BOEO 2 Pt 61
Py 120
ERET 70
#£.X = 4 352 B 2.724| (BT - % 165




